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Part 1: Building a Foundation

Which of the following is the correct use of "affect"?

Hint: Think about the context in which the word is used.

(O A) The affect of the storm was devastating.
O B) The storm will affect the crops. v/

(O C) The affect on the crops was minimal.
(O D) The crops affect the storm.

| The correct answer is B, as it uses 'affect' in the context of influencing something.

Select all sentences that correctly use the word "accept."

Hint: Look for the correct form of the verb 'accept’.

(J A) I will accept the invitation to the party. v
(] B) She accept the award with gratitude.

(J C) He was happy to accept the job offer. v’
(J D) They accept the terms and conditions. v’

| The correct answers are A, C, and D, as they all use 'accept' correctly.

Explain the difference between "than" and "then" and provide an example sentence for each.

Hint: Consider their meanings and usage in sentences.
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Than is used for comparisons, while then is used for time. Example: 'l would rather go than stay.'
and 'We will go to the park, then we will eat.'

Provide the correct word for each sentence:

Hint: Choose between the pairs of words given.

1. The medicine had a strong (affect/effect) on his health.
| effect

2. She would rather go to the park (than/then) the mall.
| than

| The correct answers are 'effect' for the first blank and 'than' for the second.

Part 2: Interpreting Word Usage

Which sentence correctly uses "except"?

Hint: Focus on the context of exclusion.

(O A) Everyone was invited to the meeting accept John.
O B) She likes all fruits except bananas. v’

(O C) He will except the gift with pleasure.

(O D) Except for the rain, the day was perfect.

Create hundreds of practice and test experiences based on the latest learning science.

Visit Studyblaze.io

Commonly Confused Words Worksheet Questions and Answers PDF


https://studyblaze.io/

(‘) StudyBlaze.io

Your Al Tutor for interactive quiz, worksheet and flashcard creation.
| The correct answer is B, as it uses 'except' to indicate exclusion.

Identify the sentences that correctly use "effect."

Hint: Look for the correct context of ‘effect’.

(] A) The new law will effect change in the community.
(J B) The effect of the new policy was immediate. v’
(7] C) She hoped to effect a positive outcome. v’

(O D) The medication had no side effects. v’

| The correct answers are B, C, and D, as they all use 'effect' correctly.

Describe a scenario where using "their," "there," and "they're" correctly is crucial for clear
communication.

Hint: Think about a situation where confusion could arise.

Using these words correctly is crucial in written communication to avoid misunderstand
misunderstand and ensure clarity.

Part 3: Applying Knowledge in Context

In which sentence is "affect" used correctly in a scientific context?

Hint: Consider the scientific implications of the word.
O A) The temperature affect the rate of reaction.
(O B) The scientist noted the affect of the chemical.

O C) The rate of reaction was affected by the temperature. v’
(O D) The affect was recorded in the lab notebook.
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| The correct answer is C, as it uses 'affected' to describe a change due to a variable.

Choose the sentences that correctly use "than" in a comparison.

Hint: Look for comparative structures in the sentences.

(J A) She is taller than her brother. v’

(1) B) He will arrive than we expected.

(] C) This cake is sweeter than the last one. v’
(U] D) The meeting is scheduled than the lunch.

| The correct answers are A and C, as they both use 'than' correctly for comparisons.

Write a short paragraph using "accept," "except," "affect," and "effect" correctly in context.

Hint: Think about a scenario where all these words can be used.

| The paragraph should demonstrate correct usage of all four words in a coherent context.

Part 4: Analyzing Relationships

Which of the following pairs of words are homophones?

Hint: Think about words that sound the same but have different meanings.
O A) Affect and Effect

O B) Accept and Except

O C) Their and There v’

(O D) Than and Then

| The correct answer is C, as 'their' and 'there' are homophones.

Create hundreds of practice and test experiences based on the latest learning science.

Visit Studyblaze.io

Commonly Confused Words Worksheet Questions and Answers PDF


https://studyblaze.io/

(ﬁ) StudyBlaze.io

Your Al Tutor for interactive quiz, worksheet and flashcard creation.

Identify the sentences where "then" is used to indicate a sequence of events.

Hint: Look for chronological order in the sentences.

(J A) First, we went to the store, then we went home. v’
(1] B) She is taller then her sister.

(3D C) If it rains, then we will cancel the picnic. v

(J D) He finished his homework, then watched TV. v’

| The correct answers are A, C, and D, as they all use 'then' to indicate a sequence.

Analyze the following sentence and correct any misuse of commonly confused words: "Their going
to the park, then there going to the movies."

Hint: Identify the incorrect words and suggest corrections.

/7

| The correct sentence should be 'They're going to the park, then they're going to the movies.'

Part 5: Synthesis and Reflection

Which sentence best evaluates the impact of using "effect" instead of "affect" in a scientific report?

Hint: Consider the clarity and accuracy of scientific language.

O A) It makes the report more engaging.

O B) It clarifies the cause and effect relationship.

O C) It leads to a misunderstanding of the results. v’
(O D) It has no impact on the report's clarity.

| The correct answer is C, as it highlights the misunderstanding that can arise from incorrect usage.

Evaluate the following sentences and select those that correctly use "their," "there," and "they're."
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Hint: Look for the correct context of each word.

(] A) Their going to the concert tonight.

(J B) They're excited about the new movie. v’
(] C) The book is over there on the table. v’
(] D) Their is a problem with the car.

| The correct answers are B and C, as they use 'they're' and 'there' correctly.

Create a short story or dialogue that includes the correct use of "accept," "except," "affect," "effect,"
"than," and "then."

Hint: Think about a scenario where all these words can be used.
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| The story or dialogue should demonstrate correct usage of all six words in a coherent context.

Create hundreds of practice and test experiences based on the latest learning science.

Visit Studyblaze.io

Commonly Confused Words Worksheet Questions and Answers PDF


https://studyblaze.io/

